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The figures in the margin indicate full marks for the questions

( SECTION : A—OBJECTIVE )
( Marks: 10)

Tick (/) the correct answer in the brackets provided : 1x10=10

1. The ease of abstraction of different classes of hydrogen in halogenation
reaction is in the order

fa) 1°-hydrogen > 2°-hydrogen > 3°-hydrogen (

(b) 3°-hydrogen > 1°-hydrogen > 2°-hydrogen (

fc) 2°-hydrogen > 3°-hydrogen > 1°-hydrogen (

/d) 3°-hydrogen > 2°-hydrogen > 1°-hydrogen (
2. The formation of alkanes by action of carbonyl-group on amalgamated zinc

in hydrochlonc acid is called

fa) Wuriz reaction ( )

(b) Kolbe reaction ( J

fej Clemmensen reduction ()

{d) Corey-House synthesis ( )
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Which one of the following will give iodoform test?
(@ CHjCH,CH,0H  ( )

(b) CH3CH(OHICH; ()

() CgHsCH,OH il

(d) (CH3)3COH ()

Alcohols on treatment with Grignard’s reagent give
(a) alkene ()

(b) aldehyde ()
fc) alkane ()
(d) alkanoic acid ()

Ethers when treated with strong acids form salts known as
(@) hydronium salts ()

(b) iminium salts ()
fc) hydrogen sulphates ()

(d) oxonium salts ()

When ethyl methyl ether is treated with HI, the resulting iodide is
(a) methyl iodide ( )

(b) ethyl iodide ()

fc) propyl iodide ( )

(d) both methyl and ethyl iodides ()

7. The hybridization state of C-
(a) sp ()

B sp® ()

atom in carbonyl compound is

) sp®> ()
(d) dsp? ()
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8. The IUPAC name of the compound

0
Cl—!Z'JHz—-CI-Iz—(l‘IJ—(:I-l3
18
(a) 1-chlorobutan-3-one ()
(b) 4-chlorobutan-2-one ( )
() 3-chlorobutan-2-one ( )
(d) 3-chloro-1-methylpropan-1-one ( )
9. Dehydration of alcohol is an example of
(a) elimination reaction ( )
(b) addition reaction ( )
(c) substitution reaction ( )
(d) redox reaction ()
10. The formation of cyanohydrin from a ketone is an example of
(a) electrophilic addition ( )
(b) electrophilic substitution ()
fc) nucleophilic substitution ()

(d) nucleophilic addition ()

( SECTION : B—SHORT ANSWERS )
( Marks: 15)

Answer five questions, taking at least one from each Unit : 3x5=15
UNIT—I

1. Write the Corey-House method for the synthesis of n-propane.

2. “Straight chain alkane has higher boiling point than its branch chain
isomers.” Explain.
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UNIT—II

3. Explain why lower alcohols are soluble in water, but higher alcohols are not.

4. Write the chemical reactions of glycerol with—
(a) oxalic acid,
(b) conc. HNOj.
UNIT—III
5. Complete the following reaction :

Hg(OCOCFy),  , NaBHs g

H3C—?=CH2 + CHsOH
CH,

6. Complete the following reaction and write its mechanism :
O +

/\ H30
CH3CH,MgBr + H,C—CH, —>? — > ?

UNIT—IV

7. “Aldehydes are more reactive than ketones towards a nucleophile.” Explain.

8. Draw and explain the structure of carbonyl group.

( SECTION : C—DESCRIPTIVE )

( Marks : 50 )
Answer five questions, taking at least one from each Unit : 10x5=50
UNIT—I
1. (a) Explain how methane can be obtained by decarboxylation of sodium .
acetate, Write the complete mechanism of the reaction. 2+3=5
(b) Explain halogenation of alkanes with a suitable example. 3
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«©/ Write the IUPAC nomenclature of the following compounds : | x2=2

()

(b)

()

/1236

HC—CH,4
Hﬁ:—CHa

CH,
C,Hs (|:I-13

i) H3r:—r:Hz—cﬁ—fl:—tzt—lz—cﬂ2—?}1—0&12—0HE—CH3
Hac—?—CHS CHj3
CH,

Explain Wurtz reaction for the synthesis of n-butane. Write the
mechanism of the reaction. 2+3=5

What is isomerism? Explain functional group isomerism and
metamerism with example. 1+4=5

UnNiT—II

Explain Victor Meyer’s test to distinguish among 1°-, 2°- and 3°-
alcohols. 4

How is glycerol obtained from fats or oils? Write the chemical reaction. 3

Complete the following chemical reactions (mechanism not required) :

1%x3=3
LiAlH
(i \% 4

H+
(i) CH,COOH +c2 sOH === ?

Cu

|
- H.C—C—OH > ?
() HaC—y 200 °C-300 °C
CH,
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4. (a)

/b)

(c)

S. (a)

(b)

(c)

6. (a)

(b}

/236

Describe Lucas test to distinguish among 1°-, 2°- and 3°-alcoholg,

3
Complete the following reactions with suitable mechanisms (any twy ,
| 3x)
(1) CHy=CH, + 0s0,— ? K
OH
(1) (0 * Pb(OCOCH;)s — ?
H
N
) RCOOC,Hg—2__, 5
C,HsOH
Write one chemical reaction to show acidity of an alcohol. |
UNIT—III
Describe Ziesel’s method for the estimation of methoxy group. 4
Explain Williamson ether synthesis giving suitable example. 3
Complete the following reactions (mechanism not required) : 1x3=3
) RCH,0C,Hg + 0y — >
W ¢ —ocH; + N, 250 ,
Complete the given reaction with suitable mechanism - 1+3=4

i HE(}}'HE
CH::_Ll e VJ —277

Discuss with example the orientation o

fElCid ca . q 4
unsymmetrical epoxides, talyzed ring opening in
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e m T

| complete the following reactions (mechanism not required) :

i <::>—OCH3+HI———)9

OH KkoH

ﬁf) —?

(i) \07 +NHy —— 7

UNIT—IV

7. (a) How will you obtain the following? Write the chemical equations :

(i Butanal from butanoyl chloride
(i) 2-Butanone from propanoic acid

(b) Complete the following reactions with suitable mechanisms :

(i) (jéz HCN — ?
HEB

(il + NHOH —> ?

1x3=3

2x2=4

3x2=6

8. (a) Write two chemical tests to distinguish between aldehydes and ketones.

(b) Complete the following reactions with suitable mechanisms :

B
(ii) QC—CHS + NH,CONHNH, ——> 7

¥ ok ok
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2+2=4
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fa) Wurtz reaction ()
(b) Kolbe reaction ()
fc) Clemmensen reduction {1

(d) Corey-House synthesis ( )

/236 1 | Contd.



‘puo) | T 9ez/

() 2dsP (p)
( ) nmw (2
() z9s (q)
() ds (o)
SI punoduwiod [Auoqres ur woye-)) Jo 33EIS UOREBZIPUqAY ayL 'z
() SIpIpPOI [Ay32 pue [Aylaw yloq (p)
() aptpor [Adoxd (o)
() spwor [kwa (g
() apIpot [£ygiowr (o)
SI apIpor 3un[nsar a3yl ‘[H YIm pajesn s Ioyia [Ayew [Ay3a uaym )
() Sj[es wmnruoxo (p)
() sajeydms uaSoiphy (o)
) Sies wnurun (g)

() sjes wmiuoipAy ()
§€ UMOWY S)[ES ULIO} SPIO® 3U0nS yim pajesn usym sisyyg

() Ploe dlouee (p)
€ ) dueye ()
() PAyapre (q)
() suaye (p)
aad juadear spreuSun ym jusunesn uo s[oyoory ‘¢
{ ) HOO®(*HD) (p)
() HO®HOH?D ()
() *HOHOHOHD (g)
() HO®HO®HOEHD (v)
¢159) ULIOJOPOL 3AI3 [[m JUIMOIOf 343 Jo auo yoryy ‘g

| —



‘piuo) | € 9ez/

‘urejdxy , siawosi
ureyo youelq sy ueyy juod Sumoq 1oySty sey oued[e ureyd jydrens, ‘g

‘auedoid-u Jo sisoyjufs I} 10j poylaw IsNOH-£3100 AU} QUM T
[—LIN(}

GI=GxE : JIUq) Yyoes wolj auo }se9] Je Junfe) ‘suonsanb any 1amsuy

(ST :syopy )
( SHAMSNV LMOHS—( : NOLLOES )

() uonippe dydoaonu  (p)
() uonnynsqgns amydoapnu  (9)
() uonmnsqns dMqrydonosfd (q)
()  uonippe omydonosp (o)
jo ajdurexs ue SI 2U033) € IOl ULPAYourAd JO uoneuLIo) YL ‘0T

( ) uonoeal xopal (p)
( ) uorjoeal uonnynsqns  (9)
()  uonowa: uonmppe (g
( ) uornoeal uonBUTWINR (D)
Jo sjdurexs ue st [OYOO[E JO UOIRIPAYS(] ‘6
( ) auo-|-uedoidjAyyaui-1-o10[Yd-¢ (p)
( ) 9UO0-g-UeINqoIoYd-¢ (9
() aUu0-Z-UeInqoIoyd-y (q)
( ) auo-g-ueInqoIo[yd-1 (v)
st
*HO—O—HO—%HO—1D

l
0
punodwod ayj jo aureu DvdNI 24l '8



‘oo | b 9ez/

£ *ajdurexa ajqeyns e yum saueye jo uoneuaforey ureidxy (q)

G=£+¢ ‘uonoeal 1) Jo wstueyoawr sja[duod ay) Jjuy "91e3a0E
WnIpos jo uone[Axoqredap Aq paureiqo aq ueo sueyjew moy urejdxy (o) T

[—LINN
05=5x01 L Juq) yoea wioly 2uo 1sed| 18 upe) ‘suonsanb any ramsuy

(05 : syop )
( FALLINIOSEA—)) ! NOLLOES )

"dnoi3 [Auoqres jo amjorugs oy ureidxa pue meiq ‘g
‘urejdxy *3[1ydos[onu B spremo) s3u0jay UBy) JA1}0RAI 2I0W IIE sapAyapry, ‘L

AI—LINN

¢ —— ¢ «— "HYD%H 4 1gBHoHD
+O°H /o\

: WSIURYISW S} JJUM pUB UONIEAI Bulmoio) sy v1aidwoy g

MEH’
— HOPHO + HO=0—0F
€< Fpgen | UE20000H :
: uonoeal Bumof[o} ai aedwoy ‘g
[[[—LINQ
"EONH "ou0d (g)
“pIoB ot[exo (o)
— s [0J204]3 Jo SUORIBAL [BIMUIYD A} AUM b
10U a1 sjoyooe JoyBIY 11q 1978 Ul QIO 18 SIOHOI[E SMC] Aqm urerdxg g

[[—LIND



piueg | g

€HO

0000802 000 Ho—b—ofH ()
no _
H

¢ == :ommmu + HOOO'HO (1)
+

é ()
f;j

£=Ex1
: (paxmbai jou wsIUTRYd3W) SUOHIEAIT [BIIWIYD TULMO[[O] 913 ajerduro)

£ “UOTOBaI [EOTAYD 3Y) LM ¢S[I0 IO STej W0 PAure3qo [01304]3 ST MOH

b ‘sjoyoore

- PUR -,g ‘-o1 Suoure ysm3unsip o} 183} SIS I03d1A urefdxy
[[—LINQ

G=b+1 adurexs yim wsusurejaw

pue WSLIQUWIOST dnosd reuonoury ure[dxy JwISLAWOST ST JeYM

G=C+Z "uonoealI 31} Jo WsIUeyoaw
ay} 2jup Cdueng-u Jo stsayjufs a3 Ioj uonoear Zynp  urerdxy
€HO mmoln_ulom:
mmolmmolm:ol:wlm:olamulT:olumolun: ()
_ |
€HO SHEO
®HO
£u!+m
*HO—0H

mmolumolmmolmzoimwlmmol«molmzoluf )

g=tx1 + spunodwod 3uwmoroy ay jo Anjepuawou Jydnl Yl AHM

9ee/

o)
(9)

(0] e

(a)

(v) 'T

{)



I
e i 9ez/

£ ‘sapioda [eoawuAsun

uy uruado Bt pazreres proe 5o UonBIUSLIO oy ardwrexa yum ssnosig (g)

S +11eH)
oH/0%H

p=E+1 + WSTIeyoaw ajqeyms Uiam uonoear uaald oy} 9gaidwoy (o) g

e _ S__AE

mTlIll.mOZI £
.vaNE + EOOl@ ()

¢ «— 0+ H%0%Hou )
E=Ex] : (paxmbar jou wsueydaw) suoness Suoryoy ayy a3ayduioy 0)

¢ ‘3[durexa ajqeyns Jumid sisayuhs Jaye uosurermy urerdxy  (g)
b ‘dno1§ Axoyjow jo uonewnsa Y3 10f POYIAW S,[3s31Z 3quIsaq (p) -g

[II—LINA

‘[oyoore we jo AIpioe Moys 03 UORJERI [EdIUWdYD U0 Uy (o)

0SH%
¢ Tmlmmlmmmoooom (m)
HO
¢ «— "(EH0000)ad + U ()
HO

fw_.m ] «—"0s0 + CHO=HO
* by orova1 FUIROI0} A adwoy (g
fue) § oaul A[qENNS Y SUC
? . ) swstuey ysmBunsIp 0} 159} §BON] AQLISI (p) -4,
1oy, (. { Buoure ysmAuRS!
[e-,¢ pue -,



() Complete the following reactions (mechanism not required)

7. (a)

i) @—OCHS FHI— ?

. Bt OH xoH
(i1) — ?

UNIT—IV

How will you obtain the following? Write the chemical equations :

(i) Butanal from butanoyl chloride
(i) 2-Butanone from propanoic acid

(b) Complete the following reactions with suitable mechanisms :

8. (a) Write two chemical tests to distinguish between aldehydes and keton

(b) Complete the

1236

1) d+ HCN — ?
H$

(1) + NH,OH — ?

following reactions with suitable mechanisms :

H H®
(i /I + NHpNHy — > ?
@

i ()—E—CHE + NH,CONHNH, ——> ?

* ok

123=3

2x2=4

3x2=6

€s.
2+2=4

3x2=6
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